INTERMEDIATE EXAMINATION-2025

SeHITSUC URIeTT—2025
( ANNUAL / a1fue )

Subject:-PHYSICS ( Elective )
fawg:—ifae fagm= ( tRes )

L.Sc. (Theory/AIGI<Id)

Bl UTT - 70+20+6 = 96 fawa 1117
Total Questions: 70+20+6 = 96 Subject Code : 117
(@ : 3 " 15 i) (o 70 )
[Time : 3 Hours 15 Minutes] [Full Marks:70]

Instructions for the candidates:

. &I OMR SOv—93% GY U7 F97 GasT HHIH (10 3HE &1) a9
fered |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

. goereff JgrTyT suT el ¥ & GV 7/

Candidates are required to give their answers in their own words as far as
practicable.

. QI 37X E191F 4 139 §V 3i& QUi [A& #d &/
Figures in the right hand margin indicate full marks.
. FTI @I qYdE GeH P [ory GYEnal #1 15 [He @7 Sl wHd @97

T 8/

15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

. I8 FoT GaeT & @vsl 4 & - @Us—3 3V @re—§
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This Question booklet divided into two sections, SECTION-A and SECTION-
B.
6. @re—37 7 70 FvglTe T & forTH & 6] 35 g @7 FAY &7 A 8/ 35 e

¥ 3iE)E BT TV G UV FoIH 35 T & FodIdbT BT Fedd 97 @& [or7 1 b [T
8/ §947 GV 37 @ fory SUcie @V T TY OMR GV—93% d QY U wel [Qdey
@I et /Bl il U7 F TG BV [¥] H GBIV B FTgeav,/ Vel yarel,/ &4S,/ TegT
37f& &7 OMR STv—YFE 4 FIIT BN H77 & 3~ Y& GRTH T8 &7/

In SECTION- A, there are 70 objective type questions, out of which any 35
questions are to be answered. If more than 35 questions are answered, then
only first 35 answers will be evaluated. Each question carries 1 mark. Darken
the circle with blue/ black ball pen against the correct option on OMR Answer
sheet provided to you. Do not use Whitener /Liquid/Blade/Nail etc. on OMR
Answer Sheet, otherwise the result will be invalid.

7. @US— § H 20 TGITIT Y97 &/ FAF & [0 2 i [FEIRT &1 o &
&7 10 7o @ GV &1 AT & §Vi# SANFT §9 &UE H 06 FH
STTIT To7 177 TV & gRAFE & fory 05 3F [T & o & [ 03
eIl & TV & 9T &/

In SECTION- B, there are 20 Short Answer Type Questions, Each question

carrying 2 marks, out of which any 10 questions are to be answered. Apart
from these, there are 06 Long Answer Type Questions, each carrying 5 marks,

out of which any 3 questions are to be answered.

8. [ gHIY P FATCIEH FYBNT BT FIIT QUTIT aroid &/

Use of any electronic appliances is strictly prohibited.
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gus — 3/ SECTION-A

IS PR &1 U / Objective Type Questions

Fo7 &I 1 @ 70 TF & T & G TN ey 79 73 8 for7% & v wel
g/ 1781 35 7ol & @71 G 39 GIeT g TV Wl sy & OMR  ¥fie gv
farfeTa &Y/ 35x 1 =35

Questions Nos. 1 to 70 have four options, out of which only one is correct.
Answer any 35 questions. You have to mark your selected option on the OMR-

sheet. 35x1 =35

1. T o & A9 RRI 0R A 39 W T 2| A g iR g, & 99 &
7@l Fy, § 9l qy oivgy & @1 qw Fy 20 d 22 g g

(A) 2 (B) 2

© (D) V2

Equal charges are placed on three edges of a square. If the force in
between q; and g, is F;, and between g, and g5 is F;3 then % will be
(A) = B) 2

© 3 (D) V2

2. T e ¢1fcdd & el | o7 1014 Soide = 8 O 8, df el R
3TAeT Bl ST ®

When 10%* electrons are removed from a neutral metallic sphere then

charge on sphere is

(A) 16uc (B) —16 uc

(C) 32 uc (D) —32 pc
3. |AlAWd gt T fagd 9o X@rell @ 41 &1 BIT

(A) (B) 180°
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(C) 90° (D) 45°

The angle between equipotential surface and electric lines of force is
(A) Zero (B) 180°

© 90° (D) 45°

. Q 3T | AMARE, R B & Ml aredd & b A 98} X g4 W
feva g ©

kQ kQ
A = B -
(C) ’;—f (D) kXQ

Potential at distance X out side a charged sphere of radius R charged with

charge Q is
A =2 ®) =
© = (D) kXQ

. Th o« — H7 B 200 V vaiar & @Rd far Sar 21 gd@a i
Sl # gig BF
(A) 100 ev (B) =
(C) 400ev (D) 800ev

An « — particle is accelerated by a potential difference 200 V . Increase

in its energy will be
(A) 100ev (B) Zero
(C) 400ev (D) 800ev

. C gRar & JuiRa § IUEId Soff dar 8lfY, Wafe I9aT fawg V da

ged1 Srg?

(A) gcv (B) gcvz
© cv D) ——
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What is the energy stored in a capacitor of capacity C when its potential

is increased up to V.
(A) scCV (B) = cCv?

(©) cv D) —

. N & |8 Tl 45 S 9914 fava Vo 96 amalRid 2, Adaex 1@ 99l
g 99 €1 98 g @ fawg s

(A) V (B)

(C) VXN

Z|<

2
(D) VXNs
N equal spherical drops of equal Potential V are Combined to form a big

drop. Potential of new big drop will be

(A) Vv B) -

(C©) VXN (D) V><N§

. U TR ®ic WEIRA & Wiel & drg g e 10° V/m &1 fagd &
2| afe FRT & wic WR AW 1 yuc g @ FRT & TA$ ©ic 9 &
(A) 05N (B) 0.05N

(C) 0.005N (D) T A ®I1$ T
Electric field in between the plates of a parallel plate condenser is

10° V/m . If charge on plates of condenser is 1 uc then force on each
plate of condenser is

(A) 05N (B) 0.05N

(C) 0.005N (D) None

. g9BT &5 B % Rerd m gea 3ol drel eR1—aren(Current loop) gRT
TP Ie—aTEol T HT A BT &

(A) T=mxB B) T=Bxm
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Ny
[l
wyl 3|

3|

(©) D) 7=

The value of torque T experionegd by a current loop of magnetic

moment 7 in magnetic field B is

(A) T=mxEB (B) T=EBxm
© =2 D) 7=1
10. I &3 T A9 " | I G Bl ATa<idbrd
(A) wedr® (B) 9l &
(C) omRafia & & (D) TTH ¥ P el
With decrease in value of magnetic field , the time period of magnetic
needle
(A) decrease (B) Increases
(C) Remains unchanged (D) None
11.f=ferfad & A fbwrest QU drerm e_i # gl &7
(A) AT faRon @1 (B) X— foxoi &t
(C) WRTTHT fBrol & (D) 3ra<<h fHxoi &t
Which of the following is used in plant houses
(A) Gama rays (B) X-rays
(C) Ultraviolet rays (D) Infrared rays

12,5t fred—gaa a) &1 E R X—E & ogfew qor H
Al z—318 & R & | IH I BT A7 B fIzm srf
(A) X-31eT & srfaer (B) Y-31&T & Irfaer
(C) Z-3eT & argfaw (D) fo=ir Y feem o
E Vector of any electromagnetic wave is along x-axis and H vector is
along z-axis . Velocity of this wave is
(A) along X-axis (B) along Y-axis
(C) along Z-axis (D) along any direction
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13. 9ORI—aR—FAR &7 FfahR fhar
(A) Hedd A (B) &<ol A
(C) =riT A (D) SHIRErEs 9 7

The invention of wireless telegraphy is done by

(A) Maxwell (B) Hertz

(C) Marconi (D) Jagdesh chandra Basu
14.0% ARIH | R ATIH # S # gaTer fahwer g ot 2| fRor geH

DI HEl S B9

(A) afa@xo (B) aui—faergor

(C) 3macH (D) WG

Light ray bends in moving from one medium to another medium.

Bonding of ray is called as

(A) Interference (B) Dispersion

(C) Refraction (D) Reflection
15.159 PR A 1 B goAgall Uil H FHDAT TR ATl ©

(A) WRIGHE A (B) 3Ua<iE |

(©) faa<qw (D) oo TR

Due to which reason air bubble shines in water

(A) Reflection (B) Refraction

(C) Diffraction (D) Perfect reflection

16.9% IHARTA T & Yarf & MUadi 1.5 & | SAD! Bidd g & A
FIT BT IfE YD T B aehal AT 20 I 22

(A) 60cm (B) 40cm

(C) 20cm (D) 10cm
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Refractive index of material of biconvex lens is 1.5 what is the value of
its focal length if radius of curvature of each surface is 20 cm?
(A) 60 cm (B) 40cm
(C) 20cm (D) 10cm
17.9% ST o9 U U<l &7 a1 2 e 3fuaci+ie 1.5 2| 39 o9 &l
A o 9 STt f3ar Sy A1 I8 fHEs 9 FIER B
(A) SR o\ (B) SMTARI o
(C) oA (D) SMIARI T

A convex lens is made of such material whose refractive index is 1.5. If

lens is immerged in water then it behave as

(A) Converging lens (B) Diverging lens

(C) Prism (D) Diverging mirror
18,819 o foraa! ®Ied T 20 FHI, -30 FHT 3R 60 AHT &, UdH—gN A

IS B | 39 A BT BIhd W &

(A) 50 cm (B) 30 cm
(C) 10 cm (D) 20 cm
Three lenses having focal lengths 20cm,-30cm and 60cm respectively are
in contract with each other. Focal length of this combination is
(A) 50cm (B) 30cm
(C) 10cm (D) 20cm
19.3f¢ & gRevid B WGP UG AP BT BIH gRAT HAIM 20 cm
3R 2 cm B O 39 GRaYd B MG &HdT BIT?
(A) 2 (B) 20
(C) 10 (D) 22

If focal length of objective and eye piece of any telescope are 20cm and

2cm respectively. Then magnifying power of this telescope is
(A) 2 (B) 20
© 10 (D) 22
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20.f e gfic—<Iy drell M AH—AH < Fohell &
(A) 3Fd R B G B (B) R Rerd awgeil &I
(C) fre @7 axgall (D) T8 ¥ PIg A&l

Myopic eye can see clearly

(A) Objects of infinity (B) Objects at far distance
(C) Objects at near distance (D) None

21.579 g9 bl 9% @1 <@d © df ST WR g9+ arert fcfes A g
g?

(A) Irdfad SR e (B) ar«fdd 3R Seel
(C) dleul-ie g e (D) WTHMH Td o]
When we see an object then image formed at retina is of which type?
(A) Real and erect (B)  Real and inverted
(C) Virtual and erect (D)  Virtual and inverted

22.9% 59 A R ok dlel ¥9d UHIT BT FAad [daferd sfagd siar ©

(A) o (B) &
© = (D) e
Minimum deviated component of white light passing through a Prism is
(A) Red (B) Violet
(C) Green (D) Yellow

23. % | gaT § SIH TR faxor &7 wifdds ST =gAaq erdm 8
(A) o T B fow (B) BT B foru
(C) Yram <7 B forw (D) T T @ forw
Critical angle of light ray passing through glass to air is minimum for
(A) Red colour (B) Green colour
(C) Yellow colour (D) Violet colour
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24 914 SEqY 991 &, I & TBI BT a9 D & H

(A) TP IR JUa<i= A (B) TI IR 3¥a<i— o
(C) 3T IR AUa<A AR TP IR AARS WRME<H |
(D) ST & B TE

Primary rainbow is formed when sun light falling on rain drops suffers
(A) Refraction once (B) Refraction twice

(C) Refraction twice and internal reflection once

(D) None
25. BT & TR T RIGId & ATAR YD & ol Bl o1 8
(A) MI™ (B) T Dl AT
(©) amf (D) e
According to principle of wave theory of light, colour of light is decided
by
(A) Amplitude (B) Speed of wave
(C) Frequency (D) Phase
26.37Sd JATHR dTel T Fax RId T A 37HdTel YBIRT BT TRIATI BT
SRR
(A) e B) g
(C) FATHR (D) i

Wave front of light coming from a source of unknown size situated at
distance is approximately

(A) Plane (B) Parabolic

(C) Cylindrical (D) Spherical

27.31 Al B hel—dde dd el odl g, Jfe ofd ITh

(A) PR H R IRIT & & &
(B) @aliR fud
(C) @dlaR ¥ 3ma<it gRaxi= 8T § |
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(D) R ¥ rfafid aRa<dq gar ? 1
Two sources are called coherent when their
(A) Phase difference changes regularly
(B) Phase difference is constant

(C) Phase difference changes periodically

(D) Phase difference changes irregularly
28.3F TS Ffddxol & ford fhdl fdg ur ug=e drell &1 o)l & 4™

PATIR BT AR

(&) 7= ®) =
© 3 o =

For constructive interference, the phase difference between two waves

reaching at a point is

(A) Zero B) =
© 3 @ 5
29.fibt @ AT, X @

(A) HId T Brell ol & 9=
(B) @ad a1 FHGIE ol & 4=
(C) f&H=I 31 HHERN BIell AT FHDI! Tholl & 99
(D) T & BIS TN
Fringe width is distance
(A) Between only two dark fringes
(B) Between two bright fringes
(C) Between two consecutive dark or bright fringes
(D) None
30.377 & fg—Ree TR # TS AAHT I B dTell a1 & 91
UIIR T A 81 Bicl 87
(A) ni B) (n+1)A
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(©) (2nt1)2 ©) (@n+1)3

In young double slit experiment, the path difference between waves
producing constructive interference is not equal to

(A) na B) nm+1)A

(€) (@nt+1)a (D) (@n+1)2

3159 O Zp BT A BT © T8l a Uebrer fpvor @7 e @ik A gemrer o
RRIEC IS

A 3 @
2 B) =
A A

© - D) —

The value of Fresnel distance of Z is

A) = a

(A) 3 B)
2 2

(&) )

32 fhwerp &1 fFom = & 9 fbw 99 &1 gt oxar 87
(A) ol HReTUraT &1 Rigid
(B) 3MAY & IRV & Rigid

(C) ST & AReTTar & Rgid

(D) STHM & HREvEar &1 Rigid |
Kirchoff’s Point-rule obeys which of the following rule
(A) Principle of conservation of energy
(B) Principle of conservation of charge
(C) Principle of conservation of momentum
(D) Principle of conservation of mass.
33.faegeia uRuer & el fdg uR 1 aRrst &1 SISO A
(A) I BT (B) 3d BT &
(C) 9IS BIT & (D) FEUTHS BT &
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Algebraic sum of currents meeting at any point in electric circuit is

(A) Zero (B) Infinity

(C) Positive (D) Negative
34 Feed 99 &1 gagR fhar orar @

(A) fI=Id ar8d 9o Ao A (B) oRT AT H

(C) wfeRIe ATOH # (D) 31Maer #9- |

Wheatstone bridge is used to measure

(A) Electromotive force (B)  Current

(C) Resistance (D) Charge

35.0% AR H 1pA ORT YaT=zd 8l 8 | IfS gelded IR 3Maer 1.6 x 107 ¢
8, I Ui Whs aR W UdIed SoidsHl Bl 9T 27
(A) 0.625 x 103 (B) 0.625 x 101°
(C) 1.6 x 10'° (D) 1.6 x 1071

A current of 1uA is flowing in a wire. If charge on electron is

1.6 X 10719 ¢ then number of electrons flowing per second through

the wire is

(A) 0.625 x 1013 (B) 0.625 x 10%°

(C) 1.6 x 10 (D) 1.6 x107%°
36.faga €er ¥ R 9@ &1 FaeR fBar oar & 98 ©

(A) dfar (B) wifes™

(C) <T™ed (D) o

The element used for electric heater is

(A) Copper (B) Platinum
(C) Tungsten (D) Nicrome

37.R 301 & g U WR U §AE A1 V A gA gU goldgid Pl
e Ry ot SRR BT

(A) # (B) eVR
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(C) % (D) 379 A ®Ig &l
Magnetic dipole moment of electron moving on a circular path of

radius R with uniform speed V is equal to

(A) evR (B) eVR
2

) = (D) None of them
2v

38.fH¥T WY UREE & IR & IealeR AT 17 & OrH W) f9ygd &R1 SR & 3R
giferoTar: verfd gelaeiql faeifdd gmm |
(A) =1 3R (B) @i &R
(C) W @ 3R (D) = @ IR
Any straight current coming wire is placed vertically in which current.
How permanently in upward direction horizontally projected electrons
along the wire will be deflected.
(A) Along right side (B) Along left side
(C) Upwards (D) Downwards
39.Y% dlecHiey &l UHICR H daell S dddl ©
(A) SHD R H ST TR STedx
(B) s v HH H ST TR SSdx
(C) 9 IHaR HA # 74 URR™ STeas
(D) 9% A0 # 9 uftRe Sirsas

A voltmeter can be converted in ammeter by adding

(A) Highresistance is parallel
(B) High resistance in series
(C) Lowresistance in parallel

(D) Low resistance in series

40.579 T FHEGII &3 H G1g BT AT T SREAT SIGT &, a9 T8 TH 8l
ST ©, i

(A) YEd! ORT S~ 81T &
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(B) fox g1 Sco=1 1t &
(C) ¥R gRT IO~ Bl &
(D) faRxh oRT 3= Bl &
When a metal sphere is allowed to move in a ammeter field then it
become hot because
(A) Alternating current is produced
(B) Direct current is produced
(C) Eddy current is produced
(D) Extra current is produced
41 5T gRmETE URA 9 Hdg gadrd o (U) dr varzd axt () @&

AU 4 Hey BT & |

1 1
(A) Uy B) U ot
(C) U xI (D) U o« I?
Magnetic energy (U) and current flowing (I) associated with a current

carrying inductor are related in proportionality as
1 1
©) U «xI (D) U «I?
42.Ydh FHUSel B WURV—0MHh 5 mH & | I(C 39 HScll T 2A DI GRT

qETS I I 39 $HScll ¥ Fag FIHI Fola™d BITT?

(A) 1wb (B) 0.1wb

(C) 0.01wb (D) 0.001wb
Self-Inductance of a coil is 5 mH. If 2A of current flow through this coil

then magnetic flux linked with coil will be

(A) 1wb (B) 0.1wh
(C) 0.01wh (D) 0.001 wh
43 JITa<it gRT & Je—Ar 9 719 IR s R A9 &7 1guTd 81T 27
1
(A) V2 B) -
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©) - D) 2V2

2

The ratio of root-mean square value and peak value of an alternating

current is
1
(A) V2 B) +
1
© (D) 2V2
44, L-R SuRuer &7 ufoamer gxdl @
(A) R+WL (B) R%*+W?2?
(©) R+ WL (D) VR?2+W?Z2[L?
Impedance of L-R circuit is
(A) R+WL (B) R?*+W??
©) R+ WL (D) VR?+W?Z2L?

45. U YATN 9RT BT FHIERT 8 [ = 60sin( 1007t) , IRT & oo+
@ BT A B

A 3 (B) 30
(C) 100 (D) 3=

Equation of an alternating current is I = 60 sin( 1007t) root mean square

value of current will be

(A) % (B) 30
(C) 100 (D) Zero
46.98 IF ST FiHG FHofl I [T ol H Igoar &, el Sl ©
(A)  giRwR (B) SvoT gl
(C) SrEA! (D) HAeX
The machine which converts mechanical energy to electrical energy is
called as
(A) Transformer (B) Induction coil
(C) Dynamo (D) Motor
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47 9T TRT URU H 3Te P17l H URT 3R fdgad—aresd 9 B

I deliax BidT 27

A B)
© I (D) & & P T

The phase difference between current and electromotive force in

alternating current circuit in condition of resonance is

A TC

A 3 B)

2 4
(C) Zero (D) None of these
48 .9t o<l gamad! aRT aRuY &7 aerel Ud WRAT SIRpal S Pp 3R

P, &, Q1 Wb T[OTH &RAT &7

(A) =L (B) Pr.P,
Pa
© 2 (D) Pa+Pr

If real and virtual Powers of any alternating current circuit are P and Py

respectively, then Power factor is

(A) = (B) Pr.Py
P4
(©) ’;—: (D) P4+ Pr

49 9gTa<it fagd—daresd 9ol E = E, sin(wt) § RIeR 49 10 V T201 50 Hz
: 1
T A t = —— s TARpIier [AET—aEd g ¢
(A) 10V (B) 5v3V
(C) 5V (D) 1V
In alternating electromotive force = E, sin( wt) . Peak value and

frequency are 10 V and 50 Hh respectively. At time t = %S

instantaneous electromotive force is
(A) 10V (B) 5V3V
(C) 5V (D) 1V
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50. 77 gRT R H gRT 1 T4 dlecsl & 919 HoAlaR ¢ T, A &RT Bl
qrced °gcd BT
(A) cosp (B) Ising
(C) Itan¢ (D) Icos?¢

If the phase difference between current I and voltage in alternating

current circuit is , then component of wattles current is

(A) Icos¢ (B) Ising
(C) Itan¢ (D) Icos?¢
51.99M TR & IWIRT_gRT @Sl & UR §aR & ol fr=faiRaa smgfral
H DI AT ISP Bf?
(A) 10KHz (B) 10 MHz
(C) 16 MHz (D) 1000 GHz

Which of the following frequency will be suitable for propogation across

the horizon by using space waves

(A) 10KHz (B) 10 MHz

(C) 16 MHz (D) 1000 GHz
52.UHF uR¥R & AR &1 TR0 U: fFdad gRT 8rdr 27

(A) Y—a<i (B) &M T

(C) YSH T (D)  STHT T

Propogation of UHF range frequencies takes place due to which?

(A) Earth waves (B) Space waves

(C) Surfacial waves (D) Sky waves
53.130 T b9 a1q &1 YBT fAgd dRI—bed <gAad Bidl 27

(A) wfsTH (B) dIR=m

(C) e (D) drar

Light electric work function of which of the given metal is minimum?

(A) Sodium (B) Barium

(C) TIron (D) Copper
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54. T ReRie &1 faer 2

(A) ML*T? (B) MILAT?
(C) MLT™? (D) MLT?
Dimension of plank’s constant is

(A) ML*T? (B) MILAT?
(C) MLT™? (D) MLT™?

55.8TggIoM URHIY] & dR HeTl ¥, gelagid Bl el Holl AR YA Bl
Rerfast oIt &1 1 qurd =1 872

(®) (B) 2

© - (D) -2

In Bohr orbit of hydrogen atom, ratio of Kinetic energy of electron to the

Potential energy of atom is

@ (B) 2

© - (D) -2
56.fr=feiRad § & fagd—g=a gafa @ 72 87

(A) X —favon (B) w@Te fahvor

(C) v — foor (D) B — faxom

Which of the following is not of electromagnetic nature?

(A) X —rays (B) Light ray

(C) y—rays (D) B —rays

577D & e R T MMW® & I TAT SHoff Jad & DI TS B
HET STl 67

(A) TYDIT el (B) & fawsa
(C)  sfuer 3ty (D) AR

The process of combination of nucleus and formation of nucleus and

release of energy is as
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(A) fusion (B) Fission
(C) Chin reaction (D) Transmutation
58. %% @& A AR WG & T R ol &I REE B AfhAT BT @
HET ST 87
(A) Hera= (B) fae
(C) #@retr srffhar (D) wUicRoT

The process of combination of nucleus and formation of nucleus and

release of energy is called as

(A) Fusion (B) Fission
(C) Chain reaction (D) Transmutation
59,52 iR SHoff & 4 T ey 7

(A) m=E (B) m*=E

(C) E =mc? (D) E=mc

The correct relation between mass and energy is

(A) m=E (B) m*=E

(C) E =mc? (D) E=mc

60.Us ST Ufded I @l 3g g 1000 a¥ T | fha- F9Y & a1 Ocd &

T B — [T Y8 ST

18
(A) 3000 99 (B) 30000 T9
(C) 30099 (D) 300000 T9

Half-life period of a radioactive element is 1000 years. In how much time
1—18 part of the element will remain

(A) 3000 Years (B) 30000Years
(C) 300 Years (D) 300000 Years

61.58Sr q=mTo] %, Ae, =g @R golagiAl @ Aer qar g
(A) 38,50,38 (B) 50,38, 38
(C) 88, 50,38 (D) 38,50, 88
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In atom ggSr, number of protons, neutrons and electrons will be

(A) 38,50,38 (B) 50, 38, 38
(C) 88,50, 38 (D) 38, 50, 88
62.U% p-n SiaE H BId &
(A) Tl g ATAD Sfaed (B) aI g1g —SiaeH
(C) UTg—3EaTcd SIae (D) erg—3ifareld S

A P-n Junction consists

(A) Two semiconductor (B) Two metal Junction
Junction

(C) Metal-semiconductor (D) Metal-superconductor
Junction Junction

63.9Tad fad S IR UIeT 8RT S~ HRA dlell FI= 6T 91 H/T 87

(A) fRear (B) TR
(C) TId (D) fpeex

The name of machine producing direct current on applying
alternating Potential is
(A) Rectifier (B) Transformer
(C) Oscillator (D) Filter

6491 U qui—aRfl fasearor # fe faer sgiky 50Hz & ar i aghy
87

(A) 50 &&w (B) 25 &<
(C) 100 & (D) 200 &
If in a full wave rectifier input frequency is SO0Hz then output frequency is
(A) 50Hz (B) 25Hz
(C) 100Hz (D) 200Hz
65.NOR e & fog gfersw &ivia &
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(A) A-B=Y (B) A+B=Y

() A-B=Y (D) A-B=Y

Boolean expression for NOR gate is

(A) A-B=Y (B) A+B=Y

(C) A-B=Y (D) A-B=Y
66.fgarmem) WA 0110 3R 0101 &7 INTHS BT

(A) (1011), (B) (1101),

(C©) (1110), (D) (0111),

Sum of binary numbers 0110 and 0101 is

(A) (1011), (B) (1101),

(C) (1110), (D) (0111),
6799 &5 B IR abd M & g dder 27

(A) B =4nM (B) B=4nH+ M

() B=4mH-M (D) po(H — M)

The relation between magnetic field B and magnetisation M is

(A) B =4nM (B) B =4mH + M

(C) B =4nH - M (D) w(H —M)
68.FIDHI THA HT W I BT B

(A) DI 36T W (B) g9 W

(C)  45° STRI &N W (D)  45° Sferol 3fefrer o

The value of magnetic dip is zero at

(A) Magnetic axis (B) Poles

(C)  45° north latitude (D) 45° south latitude
69.7% T qa@T & B ¥ fRga omget m @ eIl wqer # Rerfi

SHoll BT 7 BT

(A) mB (B) -mB
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(C) 2mB (D) -2mB
The value of Potential energy in stable equilibrium of a dipole moment

'm’ in an uniform magnetic field B is

(E) mB (F) -mB

(G) 2mB (H) -2mB
70.fRgd—dgeg T & FaR @7 faem gl ®

(A) E & 9 (B) B & |HiR

(C) B XE & ¥ARR (D) E xB & 9

The direction of Propogation of electromagnetic wave is

(A) Parallel to E (B) Parallel to B

(C) Parallel to B XE (D) Parallel to E xB

Yuvs—9 / SECTION-B
oy IRy 951 / Short Answer Type Questions

T &g 1 20 g AT E | [Fe1 10 FTH @ TOX & | HAB P [ 2 SiF
TR &1 3x5=15

Question Nos. 1 to 20 are long Answer Type. Answer any 3 Question. Each

question carries 5 marks. 3x5=15
1. SR @1 & AARE ATdd & 919 A & GARYT J Holl BT g
BT © | 2

Show that loss of energy happens in redistributing of charge between two

charged conductors.

2. ¥l & WHIR ¥ H SIS BT AM—1d I aady | 2
Describe advantage and disadvantage grouping of cells in Parallel.

3. YR @1 aRueiia s fored | 2
Write down Ampere’s circuital law.

4. =AY Udhed B gRATT ford | 2

Page 23 of 26



Write down definition of mutual inductance.
5. 9 IR UHIeX 9 W UAddr ORT Bl fhg d)g 91o7 ST 27 2

How alternating current is measured with the help of hot-wire ammeter?

6. fagId ga 99 § ST BT SYANT fha ST &, 3 1? 2
Why, in formation Permanent electromagnet, steel is uses.

7. fafa 4 araxeh ol iR RIS fBRON &1 =1l Ui 1 Bl & 2
What is the ratio of speeds of infrared rays and ultraviolet rays in

vacuum?
8. Ui W T AHSId &7 f=RUeT IUT JMuferd 3rudd-ie & dd 3R
I P | 2

What do you understand by refractive index? Differentiate between
absolute and relative refractive index.

9. Bl qui—fderor qorm goi—fIeraor emar 3 T FHeRT § 7 2
What do you mean understand by angular dispersion and dispersive
power?

10.9%1eT ¥ SR g1 a1 87? 2

What is Doppler Effect in light?

11.37 ofg & 39 dTelT JhTeT FHIBROT S~ el B Ul | ART D | 2

Light coming from two lamps does not produce interference explain?

12 e fagld Ae @ AT B | 2
Explain photoelectric cell.
13.71f%% &1 °-cd URATY] & o ¥ 37 BIaT &, aie 2

Why density of nucleus is more than density of atom?

14 Xfeagfaeg faaed va Yfeafica faws # o W o | 2
Explain difference between radioactive decay and radioactive

disintegration.
15. 3™ & g7 ford | 2

Write down coulomb’s theorm.
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16.41f%% e fpd PHed 27 2

Which is logic gate?

17. %0 T 87 I8 SIS BT JYUT dH HRAT 27 1+41=2

What is Fax? How it sends documents?

18.33Me1d AT 25 BT fgamdy A # uRafda & | 2

Change decimal number 25 into binary number.

19.0R 7Ic &1 Fadi—difeTadT ford | 2

Write down truth table of OR gate.

20.87509 & IR RIgid &1 9o & | 2

Explain Huygen’s wave theory.

<" ST UST /Long Answer Type Question

T3 GeT 21 W 26 TF JF ST 8/ el 3 g5 @ GV &/ HAF P oy
5 3w [FEiRT 8- 3x5=15

Question Nos. 21 to 26 are long Answer Type. Answer any 3 questions. Each

question carries 5 marks. 3x5=15

21.

22.

23.

T & gHg DI ford iR TG B | 39D A I IMMARG—dT B
qrev) fdg W faga—daar & o saoid are & | 5
State and prove Gauss theorem. Obtain expression for electric
intensity at a point outside a charged sphere with its help.

TR 9 o | Y IR | 98l 8% ORI ® BRYT Bl f[dg w)
o & & ol FSd U B | 5
Write down Biot-Savart law. Obtain an expression for magnetic
field near a straight wire carrying a current.

SAhIiR & RIgd, I9Tac Td fharfafdy &1 geg & goie & | 5

Explain in short the principle, construction and working of

transformer.
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24, U AYFd GeAaell o fha1 A9 d1 s JAde &l & o Ad
T N | 5
Explain working of a compound microscope and obtain
expression for its magnifying power.

25. I & fgo—Tog warT 4 o & fog aice ur< o | 5

Obtain expression for fringe-width in the young’s double slit

experiment.

26. 3@ @Id T 57 P—UPHR TFol N-UHR Jgarcidl § T FASK &7 5
What is Semiconductor? what do you understand from P-type

and N-type semi-conductor?
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